

(7.2)
27

$$\mathcal{L}^{-1} \left\{ \frac{2s-4}{(s^2+s)(s^2+1)} \right\}$$

$$= \mathcal{L}^{-1} \left\{ \frac{2s-4}{s(s+1)(s^2+1)} \right\}$$

$$= \mathcal{L}^{-1} \left\{ \frac{-4}{s} + \frac{3}{s+1} + \frac{s}{s^2+1} + \frac{3}{s^2+1} \right\}$$

$$= \mathcal{L}^{-1} \left\{ \frac{-4}{s} \right\} + \mathcal{L}^{-1} \left\{ \frac{3}{s+1} \right\} + \mathcal{L}^{-1} \left\{ \frac{s}{s^2+1} \right\} + \mathcal{L}^{-1} \left\{ \frac{3}{s^2+1} \right\}$$

$$= -4 + 3e^{-t} + \cos t + 3 \sin t$$

(7.2)

37

$$y' + 6y = e^{4t} \quad y(0) = 2$$

$$\mathcal{L}\{y' + 6y\} = \mathcal{L}\{e^{4t}\}$$

$$\Rightarrow s\mathcal{L}\{y\} - y(0) + 6\mathcal{L}\{y\} = \frac{1}{s-4}$$

$$\Rightarrow \mathcal{L}\{y\} (s+6) - 2 = \frac{1}{s-4}$$

$$\mathcal{L}\{y\} = \left(\frac{1}{s-4} + 2 \right) \frac{1}{s+6}$$

$$= \frac{1 + (2s-8)}{(s-4)(s+6)} = \frac{2s-7}{(s-4)(s+6)}$$

$$= \frac{1}{10} \frac{1}{s-4} + \frac{19}{10} \frac{1}{s+6}$$

$$\Rightarrow y(t) = \frac{1}{10} e^{4t} + \frac{19}{10} e^{-6t}$$

(7.2) $y'' - 4y' = 6e^{3t} - 3e^{-t}$ $y(0)=1$
 51 $y'(0)=-1$

$$\Rightarrow s^2 \mathcal{L}\{y\} - sy(0) - y'(0) - 4(s \mathcal{L}\{y\} - y(0)) = 6 \mathcal{L}\{e^{3t}\} - 3 \mathcal{L}\{e^{-t}\}$$

$$\Rightarrow \mathcal{L}\{y\} [s^2 - 4s] + [-sy(0) - y'(0) + 4y(0)] = 6 \frac{1}{s-3} - 3 \frac{1}{s+1}$$

$$\Rightarrow \mathcal{L}\{y\} = \left[\frac{1}{s^2 - 4s} [sy(0) + y'(0) - 4y(0)] \right] + \left[\frac{1}{s^2 - 4s} \left[\frac{6}{s-3} - \frac{3}{s+1} \right] \right]$$

Zero input response

$$\mathcal{L}\{y_{zi}(t)\} = \frac{1}{s^2 - 4s} [s - 1 - 4] = \frac{s-5}{s^2 - 4s}$$

$$y_{zi}(t) = \mathcal{L}^{-1} \left\{ \frac{s-5}{s^2 - 4s} \right\} = \mathcal{L}^{-1} \left\{ \frac{1}{4} \frac{1}{s} - \frac{1}{4} \frac{1}{s-4} \right\}$$

$$= \frac{1}{4} - \frac{1}{4} e^{4t}$$

Zero-state response

$$\mathcal{L}\{y_{zs}(t)\} = \frac{1}{s^2 - 4s} \left[\frac{6}{s-3} - \frac{3}{s+1} \right]$$

$$y_{zs}(t) = \mathcal{L}^{-1} \left\{ \frac{6}{(s^2 - 4s)(s-3)} - \frac{3}{(s^2 - 4s)(s+1)} \right\}$$

$$= \mathcal{L}^{-1} \left\{ \frac{21}{20} \frac{1}{s-4} - \frac{2}{s-3} + \frac{5}{4} \frac{1}{s} - \frac{3}{2} \frac{1}{s+1} \right\}$$

$$y_{zs}(t) = \frac{21}{20} e^{4t} - 2e^{3t} + \frac{5}{4} - \frac{3}{2} e^{-t}$$